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QUESTION 1

Which of the following is a common challenge imposed by the adoption of service- orientation? Select the correct
answer.

A. Service-orientation introduces the need for design standards, which need to be followed and enforced.
B. Service-orientation requires that you commit to one vendor platform, which can limit your product options.
C. Service-orientation requires that services be protected from repeated reuse, which can reduce potential ROI.

D. Service-orientation introduces the need to make all implementation details about each service publicly available,
which can lead to the misuse of this information by some project teams.

Correct Answer: A

QUESTION 2

The service-orientation principle primarily concerned with ensuring the runtime behavioral predictability of a service is:
Select the correct answer.

A. Service Prediction

B. Service Loose Coupling
C. Service Abstraction

D. None of the above.

Correct Answer: D

QUESTION 3

Which of the following service-orientation principles support the application of the Service Composability principle?
SELECT ALL THAT APPLY

A. Standardized Service Contract
B. Service Autonomy

C. Service Integration

D. Service Statelessness

Correct Answer: ABD

QUESTION 4

Which of the following is not a state deferral option that is commonly used in support of applying the Service
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Statelessness principle? Select the correct answer.
A. database

B. utility service

C. messages

D. service registry

Correct Answer: D

QUESTION 5
A(n) in the extent to which the Service Reusability principle is applied to a service can result in
a(n) in the potential for the service to be repeatedly composed. SELECT ALL THAT APPLY

A. decrease, decrease
B. increase, decrease
C. decrease, increase
D. increase, increase

Correct Answer: AD
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